Roll No:-
Sem-V Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Computer Science & Engineering) (Theory) [Max. Marks: 70]
Computer Hardware& Networking (2018502)

- All questions are compulsory. (e v s1fari 2 |)
- Marks are mentioned on the right side of each question. (s @t wsr % 31§ 311 sifera foma 7))

Group (A) (77 -9)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
(waitarer Sudw ke 1 g o |) -

i. From what location are the 1st computer instructions available on boot up?
(2 T W F 0 H & I 397y 27)

(a) ROM BIOS (2= BIOS) (b) boot. inj (c) CONFIG. Sys (d) CPU (& . 2)
ii. CPU's efficiency is measured in.
(CPU r egwar Ardt STt €)
(a) DPI (b) PPI (c) MIPS (d) MSPI

iii.  Intel Pentium chip use.
(INTEL =w <fia @ 39aeT &hid &)
(@) CISC design (b) RISC design (c) Both of the above (d) none of the above
(For=r fesre) (feer fesre) (I 3MT) (31 & =g )

iv. Which of the following is not tire there in Mother boards?
(vewae ¥ frefafaa & & wH- o 921 © -)

(a) System clock (Rrew #=i®)  (b) Buses (s&) (c) Ports (@) (d) vDT
V. Operating System of computer
(FPege i ST feeen)
(a) Trace Program (2@ =risw) (b) Compiler (ssem) (c) Interpreter (Zewrex) (d) All of the above (373w &)
vi. - duplex mode links are required in mesh topology.
(¥ TSt H ---m-m-- T Are fofeh Y stTarwsRar gt 2))
(a) n(n+1) (b)  (n-1) (c) n (n-1)/2 (d) n* (n+1)/2

vii.  Which of the following is example of switched WAN?
(Frefefaa & & s switched WAN 1 Segmor 272)

(8) X 25 (b) ATM (c) Frame relay (d) All the above. (35w @)
viii.  TCP Stands for
(TCP®)
(a) Transmission control Protocol (c) Transmission connected Protocol
(b) Transport Congesion Protocol (d) Technological Control Protocol
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ix. STP Stands for:

(STP?!)
(a) Secure Twisted Pair (b) Shielded Tested Pair (c) Shrink Twisted pair  (d) Shielded Twisted Pair
X. Which of the following is/are unguided media?
(frfafea & & 9 unguided media 2?)
(a) Radio wave (ffear 39) (b) Microwave (mrswea)  (c) Infrared (3FE) (d) all of the above (37 =)
Xi. Which system used Circuit switching?
(T —ar fereen wfdhe fafeim w1 3w et 27)
(@) Telephone (=frem) (b) Telegraph (<) (c) Telefax (e=fiterw) (d) E-mail (3-w=)
Xii. I --mmeee- mode single but is sent with each clock pulse.
(------ Tfe § T fore 1 U Felieh god o9 &)
(@) parallel (=) (b) serial (it ) (c) simplex (fore=a ) (d) none of these (s & =1 72)
xiii.  TDM stands for
(TDM #)
(a) Text Division. Multiplexing (c) Time Division Machine
(b) Time. Duration Multiplexing (d) Time Division Multiplexing

xiv.  Which type of co-axial cable is used in thick Ethernet?
(o werm = cO-axial et w1 ST foeh et 8 gar 272 )
(@) RT-59 (b) RG-59 (c) RG-11 (d) RG-58

xv.  Which of the following is/are omni- directional antenna?
(Freafafead & @ SF-01 STe-greRe T 27)
(@) Yagi (arf) (b) Half-wave dipole (g - = srmie)  (¢) Radio tour (fearzmr)  (d) All of the above (swiw w+)

xvi.  What is the data rate of Fast Ethernet?

(TEe ST T 2T 1@ T §7)
(@) 10 Mbps (b) 1000 Mbps (c) 100 Mbps (d) 1 Mbps
xvii.  ARPA stands for
(ARPA 2|
(a) Advanced Research Project Agency (c) Automatic Research Project Agency
(b) Advanced Regional Project Agency (d) Automatic Regional Project Agency
XViii,  ------ Voice Channels make a jumbo group in analog hierarchy: -
(Analog hierarchy # ------ Voice =9 T St g9 s 2!)
(a) 1200 (b) 3600 (c) 3000 (d) 1500
Xix. In------ mode both stations can transmit and receive simultaneously: -
(------ e # 3T RIH U @y giwfie 3R e gy e 29 2])
(@) simplex (farerea ) (b) half duplex (s g ) () duplex (gwi=w) (d) none of these (374 @ =< =)
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XX.

(@) protocol (v )

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Which of the following is not the component of data communication system?

(Frfafaa & & w5 a1 —eer wegfeRee feed &1 ac 72 27)

Group (B) (3w -#)

(b) multiplexing (wdiifeem ) (¢) transmission media (ziafiem fafear )

(d) message (#&)

Briefly list the main structural components of a computers. 4
(T P F Hed EEATes g a7 ford|)

OR (arera)
Briefly explain RAM, DRAM, SRAM. 4
(RAM, DRAM, SRAM i = 3 gmese |)
Discuss about optical storage device. 4
(Siiftera @i fearsq & i § == L | )

OR (arera)
Define BIOS, what is the use of BIOS? 4
(BIOS i ufterfi s, BIOS =1 3w /22 )
Explain simplex, half duplex and duplex transmission mode. 4
(simplex, half duplex s duplex giafiem Hie i men i)

OR (areram)
Compare and contrast between OSI model and TCP/IP suite. 4
(OSI wiea ik TCP/IP w2 i fimran 3 qotens same 1 | )
What are the advantages and disadvantages of fiber optics cable over metallic wired cable? 4
(T SHTteeh sFaret shi HeTforeh T shalel shl ol H 3T farRisaTd et vt 27)

OR (steram)
Explain in brief infrared unguided transmission media. 4
(3FitE 3H-TTEeE i ffeam &1 w8 § Seo@ )
What do you understand by ASK? Explain it. 4
(ASK & 319 77 wHerd =7 gHeh! SATEdt )

OR (areram)
Define piggy backing. What are its advantages and drawbacks 4
(piggy backing st aftfya s [gaeht foryard us it w=m —1 872)

Group (C) (3 - #)

How trouble shooting is done? Write the steps involved in it. 6
(T T S foRaT ST 2| S St <Rt i e & fow)

OR (areram)
What is BUS STANDARD? Explain PC BUS-16-bit Architecture. 6

(e mk ) 22 PC s 16 fore smifehesrr =t avfa i)
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Q.8

Q.9

Q.10

Q.11

Write short notes: -
1) USB parts
2) Boot Record
(daT 7 e o |
3) g wE ot aied
?) e frepre)
OR (arera)
Write short notes on:
1) CPU organization
2) virtual memory organization
(daT 7 g o |
3) €-ot-g we
R) T HHRY TS )

Draw OSI reference model. Also write the functions of physical layer and data link layer OSI
reference.
(O.S.| frrw vfeat it femrifera | @rer & ffierar oo ofR srer-foter <ier 3 st =1 ford])
OR (areram)
Explain sliding window protocol in detail.
(sliding window protocol s feear & same ¢ )

Explain standard Ethernet. How a standard Ethernet be extindeal?

(FvEE 3T I AT L WIS T hl hll FTSTAT ST ThelT 2|)
OR (reram)

Write short notes on any two.
a) Bridges b) gateway c) HDLC d) ALOHA

(foreft @1 7 wifew Roowoft foeri- a ) B b) 7@ ¢) HDLC  d) ALOHA )

Discuss different components of IP Address in detail.

(IP Address = stera it forega ==t &t )

OR (areram)
Differentiate between IPV4 and IPV6 addressing.
(IPV4 s IPV6 & 31=r w9 =L |)
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